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Explain your choice for #4.
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[image: ]Explain your answer to b and show all work.




10.  Barbara has $250 wants to rent the bike for 15 days. Does she have enough money? Show all your work and explain.
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29. Analyze the following sets of graphs on a separate sheet of paper. Each response should be at least 6 sentences.
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Solve each system by elimination.

5x+2y=6 b, -1
9x+2y=22 " lax+2y=24
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Reason abstractly. Explain how you would
eliminate one of the variables in this system.
04x +05y=25
12x—-35y=25
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Make sense of problems. Eliza bought a day pass

to rent abike in the city. The day pass costs $40 from

9am.to7 p.m. There is an additional fee of $4 per

quarter hour ifshe returns the bike after 7 pm. Eliza

has $50 and plans to return the bikeat 8:15 pm.

. Does Eliza have enough money? Explain using
an equation.

b. When should she return the bike?
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10. Construct viable arguments. Barbara has $250 to rent a bike for 15 days. Does Barbara have enough
money? Explain.
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22. Graph the following inequalities on the same grid
and shade the solution region that is common to all
of the inequalities.

ax<2
b, y=2x

Cy=-3x+2

23. Which ordered pair lies in the solution region that
is common to all of the inequalities in Item 227

A (2,5) B. (0,0)
C. (2,0 D. (1,-2)

24. a. Identify two ordered pairs that do not satisfy the
constraints in Item 22.

b. Reason abstractly. For each ordered pair from
part a, identify the constraint or constraints that
it fails to meet.




